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Name: Addition 

Warm Up

1)      435 + 100 =   

2)     359 + 200 =   

3)      256 + 300  =   

4)    249  + 400=   

5)     628  + 500 =   

6)      784 + 600=   

7)      895  + 700 =   

8)     506 + 800 =   

9)      938  + 900  =   

1)     The weights of two boxes are as follows:
box 1:   565 kg      box 2:    700 kg
What is the combined weight of both boxes?

2)     197 cases of bottled water were in the truck. 
Leroy added 200 more cases. How many cases 
were now in the truck?

3)     Farmer Laverne planted 338 trees. The next day 
she planted 500 more. What is the total number of 
trees that Farmer Laverne planted?
     

4)     Juliana picked 296 flowers on Saturday. On 
Sunday she picked 300. How many flowers were 
picked by Juliana on the weekend?

5)    Sonja has saved $183 for a new bike. She has to 
save another $300 to buy the bike she wants. How 
much does the bike cost?

6)    Lloyd picked 267 strawberries in the morning, 
then picked 200 more in the evening. How many 
strawberries did Lloyd pick altogether?

7)    Marlene knitted 36 socks. During the next week 
she knitted 100 more socks. How many socks did 
Marlene knit altogether?

8)    Grant has 300 female goats (nannies) and 167 
male goats (billies) on his farm. How many goats 
has Grant got altogether?

9)     In our library there are 877 books in the non 
fiction section and 700 books in the fiction section. 
In total, how many books are in the library?

10)      Erin hit a golf ball twice. The first hit went 194 m 
and the second went 200 m. How far did the ball 
travel when both hits are combined?


